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CÎma àXoe AYrZñW godm M`Z Am`moJ, bIZD$ 
{dkmnZ g§»`m-03-narjm/2024,  

ghm`H$ boImH$ma d boIm narjH$ _w»` narjm (àm.A.n.- 2023)/03 

Am¡n~§{YH$ CÎma H§w$Or (_mñQ>a goQ>) 

  narjm {V{W : 16-02-2025 

 
1. nwñVH$ ""^maVr` gaH$ma Ho$ ImVm| Am¡a boIm narjm H$m n[aM`'', Vrgam g§ñH$aU, {H$gHo$ Ûmam Omar {H$`m J`m ? 

^maV Ho$ {Z §̀ÌH$ Am¡a _hmboIm narjH$ 

The book “An Introduction to Indian Government Accounts and Audit”, third edition, issued by 

whom ? 

Comptroller and Auditor General of India 

2. ~¢qH$J {d{Z`_Z A{Y{Z`_ 1949 _______ H§$n{Z`m| Ho$ Am°{S>Q> go g§~§{YV h¡ & 

~¢qH$J 

The Banking Regulation Act of 1949 deals with the audit of ________ companies. 

Banking 

3. {ZX}eH$m| Ho$ {bE {ZJamZrH$Vm© Ho$ ê$n _| H$m¡Z H$m ©̀ H$aVm h¡ O~{H$ d¡Ym{ZH$ boIm narjH$ H$mo eo`aYmaH$m| Ho$ {bE 

{ZJamZrH$Vm© Ho$ ê$n _| H$m ©̀ H$aZm hmoVm h¡ ? 

Am§V[aH$ boIm narjH$ 

Who acts a watch-dog for the directors while the statutory auditor has to act as a watch-dog 

for the shareholders ?  

Internal Auditor 

4. àË òH$ boIm§H$Z Ho$ A§V _| H$m¡Z-gr à{dpîQ>`m± H$s OmVr h¢ ? 

g_mnZ 

Which are the entries passed at the end of each accounting period ? 

Closing 

5. H$m¡Z-gm ImVm V¡`ma _mb Ho$ CËnmXZ H$s bmJV, V¡`ma _mb H$m Ama§{^H$ Am¡a g_mnZ ñQ>m°H$, V¡`ma _mb H$s IarX 

Am¡a {~H«$s Am¡a gH$b bm^ {XImEJm ? 

Cn¶w©³V _| go H$moB© Zht 

Which account will show the cost of production of finished goods, opening and closing stock of 

finished goods, purchases and sales of finished goods and gross profit ?  

None of the above 
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6. do H$m¡Z-gr XoZXm[a`m± h¢ Omo AJbr boIm Ad{Y Ho$ ^rVa Xò  Zht h¢, bo{H$Z AJbo nm±M go Xg dfm] Ho$ ^rVa Xò  hm|Jr ? 

XrK©H$m{bH$ XoZXm[a`m± 

Which are liabilities are not payable within the next accounting period but will be payable 

within next five to ten years ? 

Long-term Liabilities 

7. naH«$må¶ {bIV A{Y{Z¶‘ H$s {H$g Ymam Ho$ VhV ¶h àmdYmZ h¡ {H$ MoH$ H$mo ŵJVmZ Ho$ {bE ~¢H$a H$mo ~¢qH$J K§Q>m| Am¡a 

{XZm| Ho$ Xm¡amZ àñVwV {H$¶m OmZm Mm{hE O~ ~¢H$ gmd©O{ZH$ ì¶dhma Ho$ {bE H$m‘ H$aVm h¡ ? 

Cn¶w©³V _| go H$moB© Zht 

Under which section of the Negotiable Instrument Act provides that a cheque must be 

presented to the banker for payment during the banking hours and days when the bank 

operates for the public dealings ? 

None of the above 

8. _mb H$s {~H«$s na J«mhH$m| go {b`m OmZo dmbm H$m¡Z-gm H$a {~H«$s amOñd H$m {hñgm Zht h¡ ? 

{~H«$s H$a 

Which tax charged from customers on sales of goods is not a part of sales revenue ? 

Sales Tax 

9. Zm__mÌ ImVm| go H$m¡Z-gm ImVm V¡̀ ma {H$`m OmVm h¡ ? 

bm^ Am¡a hm{Z ImVm 

Which account is prepared from nominal accounts ? 

Profit and Loss Account 

10. H$m¡Z-gr boIm§H$Z AdYmaUm {dídgZr¶Vm, ^amogo‘§XVm Am¡a gË¶mnZr¶Vm H$mo Xem©Vr h¡, {OgH$m AW© h¡ {H$ [anmoQ>© 

H$s JB© OmZH$mar H$s gË¶Vm H$m nVm bJmZo ‘| Hw$N> g~yV h¢ ? 

dñVw{ZîR> gmú¶ AdYmaUm 

Which accounting concept connotes reliability, trustworthiness and verifiability, which means 

that there is some evidence in ascertaining the correctness of the information reported ? 

Objective Evidence Concept 

11. ¶{X EH$ hr àH¥${V Ho$ Xmo ¶m A{YH$ boZ-XoZ EH$ hr {XZ hmoVo h¢ Am¡a S>o{~Q> ImVm ¶m H«o${S>Q> ImVm g‘mZ h¡, Vmo Eogo 

boZ-XoZ H$mo OZ©b ‘| __________ OZ©b à{dpîQ>> Ho$ ê$n ‘| AmgmZr go XO© {H$¶m Om gH$Vm h¡ & 

Cn¶w©³V _| go H$moB© Zht 

If two or more transactions of the same nature occur on the same day and either the debit 

account or credit account is common, such transactions can be conveniently entered in the 

journal in the form of a __________ journal entry. 

None of the above 
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12. ¶{X _m{bH$ Zo AnZo ì¶p³VJV ¶m Kaoby Cn¶moJ Ho$ {bE ì¶dgm¶ go ZH$Xr ¶m ‘mb {ZH$mbm h¡, Vmo Bgo 

__________ H$hm OmVm h¡ & 

S´>mB§J ImVm 

If the proprietor has withdrawn cash or goods from the business for his personal or domestic 

use, it is called as  

Drawings Account  

13. ¶{X Zm‘‘mÌ ImVo H$mo JbV VarHo$ go S>o{~Q> {H$¶m OmVm h¡, Vmo _____ H$‘ hmo OmEJm ¶m ZwH$gmZ ~‹T> OmEJm & 

bm^ 

__________ will reduce or loss will increase if a nominal account is wrongly debited. 

Profit 

14. F$UXmVm Ûmam XoZXma H$mo H$m¡Z-gr Ny>Q> Xr OmVr h¡ ? 

ZH$X Ny>Q> 

Which discount is allowed by a creditor to a debtor ? 

Cash Discount  

15. ____________ EH$ {ZpíMV n[ag§n{Îm Ho$ ~hr ‘yë¶ ‘| EH$ ñWm¶r, {Za§Va Am¡a H«${‘H$ g§Hw$MZ h¡ & 

‘yë¶õmg 

____________ is a permanent, continuing and gradual shrinkage in the book value of a  

fixed asset. 

Depreciation 

16. boIm§H$Z H$s H$m¡Z-gr àUmbr ‘yV© ny§Or n[ag§n{Îm¶m| H$s bmJV ¶m AÝ¶ ‘yb ‘yë¶ H$mo BH$mB© Ho$ AZw‘m{ZV Cn¶moJr 

OrdZ na ì¶dpñWV Am¡a VH©$g§JV VarHo$ go {dV[aV H$aZo H$m bú¶ aIVr h¡ ? 

‘yë¶õmg boIm§H$Z 

Which system of accounting aims to distribute the cost or other basic value of tangible capital 

assets less salvage, over the estimated useful life of the unit in a systematic and rational 

manner ? 

Depreciation Accounting 

17. ‘yë¶õmg H$s {H$g {d{Y Ho$ A§VJ©V, {H$gr n[ag§n{Îm H$s IarX na IM© H$s JB© am{e H$mo EH$ {Zdoe ‘mZm OmVm h¡, 

{Og na EH$ {ZpíMV Xa na ã¶mO A{O©V H$aZo H$s YmaUm hmoVr h¡ ? 

dm{f©H$s {d{Y 

Under which method of depreciation, amount spent on the purchase of an asset is regarded 

as an investment which is assumed to earn interest at a certain rate ? 

Annuity Method  

18. ‘yë¶õmg H$s {H$g {d{Y Ho$ A§VJ©V, boIm df© Ho$ A§V ‘| n[ag§n{Îm H$m nwZ‘y©ë¶m§H$Z {H$¶m OmVm h¡ Am¡a Bg ‘yë¶ H$s 
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VwbZm df© H$s ewéAmV ‘| n[ag§n{Îm Ho$ ‘yë¶ go H$s OmVr h¡ ? 

nwZ‘y©ë¶m§H$Z {d{Y 

Under which method of depreciation, the asset is re-valued at the end of the accounting year 

and this value is compared with the value of the asset at the beginning of the year ? 

Revaluation Method 

19. ‘yë¶õmg Ho$ {bE àmdYmZ H$mo bm^ Am¡a hm{Z ImVo ‘| ã¶mO H$s Xa na MmO© {H$¶m OmZm Mm{hE  

Mmby 

The provision for depreciation should be charged to profit and loss account at _________  rate 

of interest.  

Current 

20. {dÚwV CnH«$‘ Ûmam A{O©V C{MV à{V’$b go A{YH$ bm^ go H$m¡Z-gm [aOd© ~Zm¶m OmVm h¡ ? 

Q>¡[a’$ Am¡a bm^m§e {Z¶§ÌU [aOd© 

Which reserve is created out of profits in excess of the reasonable return earned by an electric 

undertaking ? 

Tariffs and Dividend Control Reserve 

21. Xmohar ImVm àUmbr n[ag§n{Îm¶m| H$mo ny§Or ImVo ‘| CZHo$ _______ ‘yë¶ na {XIm¶m OmVm h¡ & 

‘yb ‘yë¶ 

In double account system assets are shown at their _______ in the capital account.  

Original Value 

22. H$m¡Z-gr ImVm àUmbr Ho$db A§{V‘ ImVm| H$s àñVw{V H$s EH$ {d{Y h¡ ? 

Xmohar ImVm àUmbr 

Which account system is only a method of presentation of final accounts ? 

Double account system 

23. Xmohar ImVm àUmbr ‘| ‘yë¶õmg H$s H$m¡Z-gr {d{Y A{Zdm¶© ê$n go ~ZmB© OmVr h¡ Am¡a à{V ŷ{V¶m| ‘| {Zdoe H$s  

OmVr h¡ ? 

‘yë¶õmg {Z{Y {d{Y 

Which method of depreciation is compulsorily created and invested in securities in double 

account system ? 

Depreciation Fund Method 

24. H$m¡Z-gm MoH$, MoH$ ‘| Zm{‘V ì¶p³V H$mo Xo¶ h¡ ? 

{~¶aa MoH$ 

Which cheque is payable to a person named in the cheque or the bearer ? 

Bearer Cheque 

25. H$m¡Z-gm MoH$, MoH$ ¶m CgHo$ Am°S>©a ‘| Zm{‘V ì¶p³V H$mo Xo¶ h¡ ? 
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Am°S>©a MoH$ 

Which cheque is payable to the person named in the cheque or his order ? 

Order Cheque 

26. naH«$må¶ {bIV A{Y{Z¶‘ H$s {H$g Ymam Ho$ VhV eãXm| ‘| ~VmB© JB© am{e Ho$ ŵJVmZ H$m àmdYmZ h¡ ? 

Ymam-18 

Under which section of the Negotiable Instrument Act provides for the payment of the amount 

stated in words ? 

Section-18 

27. O~ gm‘J«r H$m ñQ>m°H$ nwZ: Am°S>©a ñVa na nhþ±M OmVm h¡, Vmo H«$¶ {d^mJ H$mo H$m¡Z-gm AZwamoY Omar {H$¶m OmVm h¡ ? 

H«$¶ AZwamoY 

Which requisition issued to the purchase department when the stock of materials reaches the 

Re-order Level ? 

Purchase requisition 

28. ñQ>moa go gm‘J«r Omar H$aZo H$mo A{YH¥$V H$aZo Am¡a [aH$m°S>© H$aZo Ho$ {bE {H$g XñVmdoµO H$m Cn¶moJ {H$¶m OmVm h¡ ? 

gm‘J«r AZwamoY 

Which document is used to authorize and record the issue of materials from the store ? 

Material requisition 

29. boIm§H$Z df© Ho$ àË¶oH$ ‘hrZo Ho$ A§V ‘| hmW ‘| BªYZ g{hV ^§S>ma, gm‘J«r Am¡a Amny{V© H$s nwñVH$ bmJV Ho$ 

_______ (‘m{gH$ Am¡gV) Ho$ ¶moJ Ho$ ~am~a H$m¶©erb ny§Or H$s am{e& 

Cn¶w©³V _| go H$moB© Zht 

The amount of working capital equal to the sum of _________ (monthly average) of the book 

cost of stores, materials and supplies including fuel in hand at the end of each month of the 

year of account. 

None of the above 

30. {H$gr {deof H$m¶© ¶m H$m¶© AmXoe ¶m à{H«$¶m Ho$ {bE Amdí¶H$ g^r gm‘{J«¶m| H$s ‘mZH$ ‘mÌm H$s gyMr  

H$m¡Z-gr h¡ ? 

{~b Am°’$ ‘¡Q>o[a¶ëg 

Which is a list of standard quantities of all materials required for a particular job or work order 

or a process ? 

Bill of Materials 

31. gm‘J«r H$m grYm hñVm§VaU ______ ZmoQ> Ho$ ‘mÜ¶‘ go {H$¶m OmZm Mm{hE & 

gm‘J«r hñVm§VaU 

Direct transfer of materials should be done through ________ note. 

Material transfer 

32. boIm Ad{Y Ho$ A§V ‘| hmW ‘| ‘m¡OyX g^r BÝd|Q´>r AmBQ>‘m| H$s dmñV{dH$ ^m¡{VH$ JUZm ¶m ‘mn ¶m dOZ Ho$ AmYma 
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na BÝd|Q́>r H$s ‘mÌm Am¡a ‘yë¶ H$m nVm bJmZo H$s H$m¡Z-gr àUmbr h¡ ? 

Amd{YH$ BÝd|Q́>r 

Which is a system of ascertaining the quantity and value of inventory on the basis of an actual 

physical count or measure or weight of all the inventory items on hand at the end of 

accounting period ? 

Periodic Inventory 

33. {H$g H$mS>© ‘| A{YH$V‘ ñVa, Ý¶yZV‘ ñVa, nwZ: Am°S>©a ñVa Ho$ ~mao ‘| {ddaU hmoVm h¡ ? 

{~Z H$mS>© 

Which card contains particulars regarding maximum level, minimum level, reorder level ? 

Bin Card 

34. {H$g àUmbr Ho$ VhV, ¶{X H«o$Vm {H$gr {H$íV Ho$ ŵJVmZ ‘| MyH$ H$aVm h¡, Vmo {dH«o$Vm H$s‘V Ho$ {bE Ý¶m¶mb¶ ‘| ‘wH$X‘m 

H$a gH$Vm h¡ ? 

{H$íV H«$¶ àUmbr 

Under which system, the seller can sue in the court of law for price if the buyer makes default 

in payment of any instalment ? 

Instalment purchase system 

35. godm{Zd¥Îm gaH$mar H$‘©Mmar H$mo n|eZ Ho$ nhbo ŵJVmZ go nhbo H$m¡Z-gm doVZ à‘mUnÌ ^r Amdí¶H$ h¡ ? 

A§{V‘ 

Which pay certificate is also necessary before the first payment of pension to a retired 

Government servant ?  

Last 

36. H$m¡Z BÀN>mZwgma S>oQ>m H$mo ñQ>moa, àmogog Am¡a nwZ: àmßV H$a gH$Vm h¡ ? 

H§$ß¶yQ>a 

Which can store, process and retrieve data as and when desire ? 

Computer 

37. H$m¡Z-go H§$ß¶yQ>a dmñV{dH$ g§»¶mAm| go {ZnQ>Vo h¢ Am¡a g‘ñ¶m H$m CÎma {JZVr H$aHo$ àmßV {H$¶m OmVm h¡ ? 

{S>{OQ>b 

Which computers deal with actual numbers and the answer to the problem is obtained  

by counting ? 

Digital 
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38. {d{^ÝZ H$m¶m©Ë‘H$ ~OQ>m| H$m g‘o{H$V gmam§e H$m¡Z-gm h¡ ? 

‘mñQ>a ~OQ> 

Which is the consolidated summary of the various functional budgets ? 

Master Budget 

39. H$m¡Z-gm àmoJ«m‘ C{MV ^mfm ‘| {bIo JE {ZX}em| H$m AZwH«$‘ h¡ ? 

H§$ß¶yQ>a 

Which programme is a sequence of instructions written in a proper language ? 

Computer 

40. H$m¡Z-gm MmQ>© g‘ñ¶m Ho$ g‘mYmZ na nhþ±MZo Ho$ {bE {H$E OmZo dmbo g§MmbZ Ho$ AZwH«$‘ H$mo Xem©Vm h¡ ?  

Cn¶w©³V _| go H$moB© Zht 

Which chart illustrates the sequence of operations to be performed to arrive at the solution of 

problem ? 

None of the above 

41. àmoJ«m‘m| H$m dh g‘yh H$m¡Z-gm h¡ Omo H§$ß¶yQ>a H$mo dm§{N>V H$m¶© H$aZo Ho$ {bE ào[aV H$aVm h¡ ? 

gm°âQ>do¶a 

Which is the set of programmes that cause the computer to perform the work desired ? 

Software 

42. ~¢H$ H$s emImAm| H$m ZoQ>d{Hª$J H$m¡Z-gm g‘mYmZ h¡, Vm{H$ J«mhH$ {H$gr ^r ~¢H$ emIm go AnZo ImVo g§Mm{bV  

H$a gH|$ ? 

H$moa ~¢qH$J 

Which solution is the networking of the branches of a bank, so as to enable the customers to 

operate their accounts from any bank branch ? 

Core Banking 

43. ^maV gaH$ma Zo gyMZm àm¡Úmo{JH$s A{Y{Z¶‘, 2000 H$mo _______ , 2000 go bmJy {H$¶m & 

A³Qy>~a, 17 

The Government of India enacted the Information Technology Act, 2000 with effect from 

___________, 2000. 

October, 17 

44. ___________ ^maV ‘| EH$ Ëd[aV ŵJVmZ A§Va-~¢H$ Bbo³Q́>m°{ZH$ ’§$S> Q́>m§g’$a {gñQ>‘ h¡ & 

VËH$mb ^wJVmZ godm 

___________ is an instant payment inter-banks electronic funds transfer system in India. 

Immediate Payment Service 
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45. EbZ Q>{ZªJ Ûmam "Am{Q>©{’${e¶b B§Q>o{bO|g' eãX {H$g df© J‹T>m J¶m Wm ? 

1950 

In which year, the term ‘Artificial Intelligence’ was coined by Alan Turning ? 

1950 

46. H$m¡Z-gm I§S> ‘mb H$s ZH$X H$s‘V ~VmVm h¡ {Og na {H$am¶m H«o$Vm ‘mb H$mo ZH$X go IarX gH$Vm h¡ ? 

Ymam [4(1)(b)] 

Which section states the cash price of goods at which the hire purchaser can purchase the 

goods for cash ? 

Section [4(1)(b)] 

47. ‘mb H$s {S>brdar boVo g‘¶ Omo am{e MwH$mB© OmVr h¡ Cgo ___________ H$hm OmVm h¡ &  

A{J«‘ ^wJVmZ 

The amount which is paid at the time of taking delivery of the goods is called as  

Down payment 

48. ^m‹S>o Ho$ H«o$Vm Ho$ ImVo H$mo ‘mb nwZ: H$ãµOm ImVo ‘| ñWmZm§V[aV H$aHo$ H$m¡Z ~§X H$aoJm ? 

{dH«o$Vm 

Who will close the account of the hire purchaser by transferring its balance to goods 

repossessed account ? 

Vendor 

49. {H$g àUmbr Ho$ VhV, bm^ ¶m hm{Z H$m nVm bJmZo Ho$ {bE àYmZ H$m¶m©b¶ àË¶oH$ emIm ImVo Ho$ {bE EH$ AbJ 

ImVm ImobVm h¡ ? 

XoZXma àUmbr 

Under which system, head office opens a separate account for each Branch Account in order 

to find out the profit or loss ? 

Debtors System 

50. ‘mb ¶m godmAm| H$mo EH$ {d^mJ go Xÿgao {d^mJ ‘| ______ H$s‘V na ñWmZm§V[aV {H$¶m OmVm h¡ & 

{~H«$s 

Goods or services are transferred from one department to another department at _____ price. 

Selling 

51. ¶{X {H$gr gj‘ Ý¶m¶mb¶ Ûmam {H$gr ì¶p³V Ho$ {déÕ Ý¶m¶{ZU©̀ Z H$m AmXoe nm[aV {H$¶m OmVm h¡, Vmo Cgo ______ 

H$hm OmVm h¡ & 

BZgm°ëd|Q> 

If an order of adjudication is passed against person by a competent court who is called as  

Insolvent 
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52. Ý¶m¶{ZU©¶Z Ho$ AmXoe Ho$ níMmV Ad{Y Ho$ {bE boZXmam| H$mo ______ à{V df© H$s Xa go ã¶mO H$m ŵJVmZ {H$¶m 

OmEJm & 

6% 

The interest will be paid to the creditors for the period after the order of adjudication at the rate 

of _________ per annum. 

6% 

53. _________ {H$gr {ZpíMV n[ag§n{Îm Ho$ Cn¶moJ Ho$ {bE AmCQ>nwQ> ¶m {~H«$s na AmYm[aV Amd{YH$ ŵJVmZ h¡ & 

am°¶ëQ>r 

_________ is a periodical payment based on output or sale for the use of a certain asset. 

Royalty 

54. em°Q>©-d{Hª$J gñn|g AH$mC§Q> H$m H«o${S>Q> ~¡b|g AmJo bo Om¶m OmEJm Am¡a Bgo Xo¶Vm Ho$ ê$n ‘| {XIm¶m OmEJm _______ 

O~ VH$ {H$ ¶h à{Vny{V© ¶mo½¶ Z hmo OmE & 

~¡b|g erQ> 

The credit balance of short-workings suspense account will be carried forward and shown as a 

liability in the ______ till it is recoupable. 

Balance Sheet 

55. j{V H$s {V{W go R>rH$ nhbo __________ ‘hrZm| Ho$ Xm¡amZ dm{f©H$ Q>Z©Amoda & 

12 

The annual turnover during the __________ months immediately preceding the date of the 

damage. 

12 

56. ghH$mar g{‘{V H$s J¥h g§n{Îm go Am¶, ~eV} {H$ CgH$s gH$b Hw$b Am¶ __________ go A{YH$ Z hmo & 

20,000 én¶o 

Income of a co-operative society from house property, provided its gross total income does 

not exceed 

Rs. 20,000 

57. {H$g Ymam Ho$ VhV ‘erZar, g§¶§Ì ¶m ’$ZuMa H$s dV©‘mZ ‘aå‘V na {H$E JE ì¶¶ H$s am{e ñdrH$m¶© h¡ ? 

Ymam 31 

Under which section, amount of expenditure incurred on current repairs of machinery, plant or 

furniture are allowable ? 

Section 31 
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58. XrK©H$m{bH$ ny§OrJV n[ag§n{Îm H$m AW© h¡, EH$ ny§OrJV n[ag§n{Îm Omo H$aXmVm Ûmam hñVm§VaU H$s VmarI go Vwa§V nhbo 

_________ ‘hrZm| go A{YH$ g‘¶ VH$ aIr OmVr h¡ & 

36 

Long-term capital asset means a capital asset held by an assessee for more than _________ 

months immediately preceding the date of transfer. 

36 

59. H$aXmVm Y‘m©W© g§ñWmAm|, amhV H$mofm| H$mo {XE JE XmZ na ______ Ho$ VhV H$Q>m¡Vr H$m Xmdm H$a gH$Vm h¡ & 

Ymam 80G 

Assessee can claim deductions under _______ on donations made to charitable institutions, 

relief funds. 

Section 80G 

60. àË¶oH$ ì¶p³V Omo n§OrH¥$V hmoZo Ho$ {bE CÎmaXm¶r h¡, Cgo n§OrH$aU Ho$ {bE CÎmaXm¶r hmoZo H$s {V{W go ________ {XZm| 

Ho$ ^rVa n§OrH$aU Ho$ {bE AmdoXZ H$aZm hmoJm & 

30 

Every person who is liable to be registered shall apply for registration within ______ days from 

the date on which he becomes liable for registration. 

30 

61. {dH«o$Vm Ûmam H«o$Vm H$mo Omar {H$¶m OmZo dmbm dm{UpÁ¶H$ XñVmdoO H$m¡Z-gm ZmoQ> h¡ ? 

H«o${S>Q> ZmoQ> 

Which note is commercial document issued by a seller to a buyer ?  

Credit note 

62. {H$g Ymam ‘| Bbo³Q́>m°{ZH$ H¡$e boOa H$m AW© h¡ àË¶oH$ n§OrH¥$V ì¶p³V Ûmam Bbo³Q́>m°{ZH$ ê$n ‘| ~ZmE aIm OmZo dmbm  

H¡$e boOa ? 

Ymam 49(1) 

Which section states electronic cash ledger means a cash ledger maintained in electronic 

form by each registered person ? 

Section 49(1) 

63. EH$ H$maImZo ‘| nwéf Am¡a ‘{hbm l{‘H$m| H$m AZwnmV 5 : 3 h¡ & CÝh| Xo¶ X¡{ZH$ ‘OXÿar H$s Xa 3 : 2 Ho$ AZwnmV ‘| h¡ & 

EH$ gßVmh Ho$ {bE CÝh| {XE OmZo dmbo Hw$b doVZ H$m AZwnmV ³¶m hmoJm ? 

105 : 42 

The ratio of men and women workers in a factory is 5 : 3. The rate of daily wages payable to 

them is in the ratio of 3 : 2. What would be the ratio of total wages paid to them for a week ? 

105 : 42 
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64. 5, 8 Am¡a 16 H$m Mm¡Wm AmZwnm{VH$ H$m¡Z-gm h¡ ? 

25.6 

Which is the fourth proportional to 5, 8 and 16 ? 

25.6 

65. 1600 én¶o na 10% à{V df© H$s Xa go EH$ df© H$m gmYmaU ã¶mO ³¶m h¡ ? 

160 én¶o 

What is the simple interest on Rs.1600 for one year at 10% p.a. ? 

Rs.160 

66. g‘mZm§Va nmoQ>© ‘| {H$VZo {~Q> S>oQ>m ^oOo OmVo h¢ ? 

8 {~Q> 

How many bits of data are sent in a parallel port ? 

8 bits 

67. ñV§^ A _o§ AmBQ>_ H$m {_bmZ ñV§^ B _| ghr {ddaU go H$a| &  

  ñV§^ A  ñV§^ B 

 1. g§Xoe a. nVo O¡gr OmZH$mar dmbm S>oQ>m 

 2. M¡Zb Cn`moJ b. {Z`_ Omo AZwà`moJm| Ho$ ~rM g§Xoe Ho$ AW© H$mo n[a^m{fV H$aVo h¢ 

 3. n¡Ho$Q> c. H$B© g§Xoem| Ho$ {bE g§Mma M¡Zbm| H$m Hw$eb Cn`moJ 

 4. àmoQ>moH$m°b d. AmgmZ Q´>m§g{_eZ Ho$ {bE ~‹S>o g§Xoem| H$mo Vmo‹S>Zo dmbr N>moQ>r BH$mB`m± 

           5. g§Xoe H$s b§~mB© e. g§Mma H$mo à^m{dV H$aZo dmbo g§Xoem| H$m AbJ-AbJ AmH$ma 

1 – e   2 – c   3 – d   4 – b   5 – a 

Match the items in Column A with the correct descriptions in Column B. 

  Column A Column B 

 1. Message a. Data with information like addresses 

 2. Channel b. Rules that define message meanings between applications 

Utilization         

 3. Packets c. Efficient use of communication channels for multiple messages 

 4. Protocols d. Small units breaking large messages for easier transmission 

 5. Message e. The varying size of messages affecting communication 

              Length 

1 – e   2 – c   3 – d   4 – b   5 – a 
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68. {ZåZ{b{IV H$m {_bmZ H$a| & 
  ñV§^ A ñV§^ B 
 1. {g§ßboŠg M¡Zb a. Xmo CnH$aUm| Ho$ ~rM grYm H$ZoŠeZ, O¡go \$mB~a Am°pßQ>Šg 
 2. hm\$$-Sw>ßboŠg  b. XmoZm| {XemAm| _| EH$ gmW {g½Zb ^oOVm h¡§ 
           M¡Zb 
 3. \w$b-Sw>ßboŠg M¡Zb c. dm°H$s-Q>m°H$s H$s Vah EH$ ~ma _| EH$ {Xem  _| {g½Zb ^oOVm h¡ 
 4. nm°B§Q>-Qy>-nm°B§Q>  d. H$B© CnH$aUm| Ûmam Cn`moJ {H$`m OmVm h¡, dm`abog ZoQ>dH©$ _| 
  M¡Zb  gm_mÝ` h¡     
 5. _ëQ>rnm°B§Q> M¡Zb e. Ho$db EH$ {Xem _| {g½Zb ^oOVm h¡ 
1 – e  2 – c  3 – b  4 – a  5 – d 

Match the following. 

  Column A  Column B 

 1. Simplex a. A direct connection between two devices, like fiber optics 

              Channel 

 2. Half-Duplex  b. Sends signals in both directions simultaneously 

              Channel 

 3. Full-Duplex c. Sends signals in one direction at a time, like walkie-talkies 

              Channel 

 4. Point-to-Point d. Used by multiple devices, common in wireless networks 

  Channel      

 5. Multipoint e. Sends signals in one direction only 

              Channel 

1 – e  2 – c  3 – b  4 – a  5 – d 

69. {ZåZ{b{IV H$m {_bmZ H$a| & 
 ñV§^ A ñV§^ B 
 1. àmoJ«m_ bmoS> H$aZm a. _o_moar _| EH$ gmW H$B© àmoJ«m_ MbmZm 
 2. àmoJ«m_ ñQ>mQ>© b. àmoJ«m_ H$mo amoH$Vm h¡ Am¡a H§$ß ỳQ>a H$mo amoH$ XoVm h¡ 
 3. ỳOa B§Q>a\o$g c. H§$ß ỳQ>a ~§X hmoZo na _o_moar  gmµ\$ hmo OmVr h¡ 
 4. hm°ëQ> {ZX}e d. H§$ß`yQ>a ewê$ hmoZo na àmoJ«m_ bmoS> H$aZo H$s EH$ {d{Y 
 5. g_dVu àmoJ«m_ e. BZnwQ>, AmCQ>nwQ> H$m à~§YZ H$aVm h¡ Am¡a {ZX}em| H$mo {Zînm{XV 
  {ZînmXZ  H$aVm h¡ 
1 – d  2 – c  3 – e  4 – b  5 – a 
Match the following. 
  Column A   Column B 
 1. Program a. Running multiple programs at once in  memory 
  Loading   
 2. Program start b. Stops the program and halts the computer 
 3. User Interface c. Memory is cleared when the computer powers off 
 4. HALT d. A method to load a program when the computer starts 
  Instruction   
 5. Concurrent e. Manages input, output and executes 
  Program   instructions 
  Execution    
1 – d  2 – c  3 – e  4 – b  5 – a 
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70. {ZåZ{b{IV H$m {_bmZ H$a| & 
 ñV§^ A ñV§^ B 

 1. {ZX©o{eH$m a. ‹>\$mBb AI§S>Vm gw{ZpíMV H$aVm h¡ Am¡a AZ{YH¥$V nhþ±M H$mo 

  g§aMZmE±  à{V~§{YV H$aVm h¡ 

 2. µ\$mBb à~§YZ$ b. A{YH¥$V Cn`moJH$Vm©Am| VH$ nhþ±M H$mo {Z`§{ÌV Am¡a 

  CnH$aU  gr{_V H$aVm h¡ 

 3. µ\$mBb  c. µ\$mBb AmodaamBqQ>J go ~MmVm h¡ 

  OmZH$mar  Am¡a nhþ±M H$m à~§YZ H$aVm h¡ 

 4. gwajm V§Ì d. ‹>\$mBb Zm_, AmH$ma Am¡a gwajm O¡go {ddaU em{_b h¢ 

 5. µ\$mBb EŠgog e. {S>dmBg Ho$ ~rM \$mBbm| H$mo bo OmZo Am¡a hoa\o$a H$aZo Ho$ {bE                 

  gwajm  CnH$aU 

1 – c  2 – e  3 – d  4 – a  5 – b 

 Column A Column B 

 1. Directory a. Ensures file integrity and restricts unauthorized access 
              Structures 
 2. File b. Controls and limits access to authorized users 
              Management  
              Tools    
 3. File c. Protects against file overwriting and manages access 
              Information 
 4. Security d. Includes details like file name, size and protection  
              Mechanisms  
 5. File Access e. Tools for moving and manipulating files between devices 
  Protection    
1 – c  2 – e  3 – d  4 – a  5 – b 

71. __________ EH$ g‘rH$aU h¡ Omo dH©$erQ> S>oQ>m na g§MmbZ H$aVm h¡ & 
gyÌ 

__________ is an equation that performs operations on worksheet data. 
Formula 

72. àmoQ>moH$m°b H$m EH$ ñV[aV goQ> H$m¡Z-gm h¡ ? 

TCP/IP 

Which is a layered set of protocols ? 

TCP/IP 

73. S>m¶b An bmBZm| na IP n¡Ho$Q> [abo H$aZo dmbm nhbm àmoQ>moH$m°b H$m¡Z-gm Wm ? 

gr[a¶b bmBZ IP 

Which was the first protocol for relaying the IP packets over dial up lines ? 

Serial line IP 
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74. {ZåZ{b{IV ‘| go H$m¡Z-gm CnH$aU AmnH$mo AnZo H§$ß¶yQ>a H$s nmda H$mo Q>obr’$moZ àUmbr H$s d¡pídH$ nhþ±M Ho$ gmW 

g§¶mo{OV H$aZo H$s AZw‘{V XoVm h¡ ? 

 ‘m°S>o‘ 

Which of the following device allow you to combine power of your computer with global reach 

of the telephone system ? 

Modem 

75. NeGP H$s Am{H©$Q>oŠMa ‘| ______ naV| em{‘b h¢ & 

VrZ 

The architecture of NeGP consists of _______ layers. 

Three 

76. {ZåZ{b{IV H$m {_bmZ H$a| & 

 ñV§^ A ñV§^ B 

 1. ARPANET a. 1991 _| dëS>© dmBS> do~ H$s AdYmaUm {dH${gV H$s 

 2. B©WaZoQ> b. ‹\moZ bmBZm| H$m Cn`moJ H$aHo$ EH$ n¡Ho$Q>-pñd{M§J àmoQ>moH$m°b, {OgH$m Cn`moJ ewéAmVr    

                                 ZoQ>dH©$ _| {H$`m OmVm Wm 

 3. ao Q>m°_{b§gZ c. 1971 _| B©-_ob Ho$ {bE _mZH$ "" ỳOaZo_ @ hmoñQ>Zm_'' àmê$n {dH${gV {H$`m 

 4. {Q>_ ~Z©g©-br d. 1973 _| µOoam°Šg PARC _| B©WaZoQ> àmoQ>moH$m°b {dH${gV {H$`m 

 5. X.25 e. B§Q>aZoQ> H$m EH$ {àH$g©a 1969 _| A_o[aH$s ajm {d^mJ Ûmam {dÎm nmo{fV 

1 – e  2 – d  3 – c  4 – a  5 – b 

Match the following. 

 Column A  Column B 

 1. ARPANET a. Developed the concept of the World Wide Web in 1991 

 2. Ethernet b. A packet-switching protocol using phone lines, used in 

    early networks 

 3. Ray c. Developed the standard “username@ hostname” 

  Tomlinson   format for email in 1971 

 4. Tim Berners- d. Developed the Ethernet protocol in 1973 at Xerox 

  Lee   PARC 

 5. X.25 e. A precursor to the Internet, funded by the U.S. Defense Department  

in 1969 

1 – e  2 – d  3 – c  4 – a  5 – b 
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77. Omo AmnH$mo AnZo PC go ISP VH$ grYr bmBZ Ho$ {~Zm B§Q>aZoQ> go H$Zo³Q> H$aZo XoVm h¡  

dmB©-’$mB© 

Which lets you connect to the internet without a direct line from your PC to the ISP ? 

Wi-Fi 

78. gm°µâQ>do¶a Omo à{V¶m| H$mo nwZ{d©V[aV H$aZo Ho$ A{YH$ma Ho$ gmW CnbãY H$am¶m OmVm h¡  

eo¶ado¶a 

Software which is made available with right to redistribute copies ? 

Shareware 

79. ‘erZ b{ZªJ ‘| _______ em{‘b h¡ Omo grIZo Ho$ {bE S>oQ>m H$m Cn¶moJ H$aVm h¡ & 

EëJmo[aX‘ 

Machine Learning comprises _________ that uses data to learn. 

Algorithm 

80. H$m¡Z-gm S>oQ>m àg§ñH$aU H$s {dídgZr¶Vm h¡ ? 

gË¶Vm 

Which is trust worthiness of data processing ? 

Veracity 

81. CÎma àXoe ‘| pñWV ^Xmohr {ZåZ{b{IV ‘| go {H$g H$bm Ho$ {bE à{gÕ h¡ ? 

H$mbrZ {Z‘m©U 

Bhadohi that is located in Uttar Pradesh is famous for which of the following art ? 

Carpet manufacturing 

  



 

AD01 16 MASTER SET 
 

82. {ZåZ{b{IV H$WZm| H$m CZHo$ g§JV {díd{dÚmb`m| go {_bmZ H$a| & 

 H$WZ {díd{dÚmb`m| 

 1.  ỳnr H$m nhbm  a. ~Zmag {h§Xy {díd{dÚmb` 

  {díd{dÚmb`  (~rEM ỳ) 

 2. ỳnr Am¡a E{e`m H$m  b. _moamXm~mX 

  g~go ~‹S>m Amdmgr` 

  {díd{dÚmb` 

 3. VraW§H$a _hmdra  c. amO{f© Q>§S>Z _wŠV {díd{dÚmb`, 

  {díd{dÚmb`   Bbmhm~mX 

 4. ỳnr amÁ` gaH$ma H$m  d. Bbmhm~mX {díd{dÚmb` 

  EH$_mÌ _wŠV {díd{dÚmb`   (1887) 

1     2   3   4 

d    a    b   c 

Match the following statements with their corresponding Universities. 

 Statements Universities 

 1.  First University a. Banaras Hindu University 

  in UP  (BHU) 

 2. Largest Residential b. Moradabad 

  University in UP  

  and Asia 

 3. Teerthankar c. Rajarshi 

  Mahaveer  Tandon Open 

  University  University, Allahabad 

 4. The only Open  d. Allahabad 

  University of the UP   University 

  State Government  (1887) 

1     2   3   4 

d    a    b   c 

83. {‘µOm© µJm{b~ Am¡a {’$amH$ JmoaInwar ______ go Ow‹S>r à{gÕ ì`pŠVËd h¢ & 

µJµOb 

Mirza Ghalib and Firak Gorakhpuri are famous personalities associated with 

Ghazal 

84. h[ad§e am¶ ~ÀMZ {H$g gm{hpË¶H$ Am§XmobZ Ho$ EH$ à‘wI ì¶p³V Wo ? 

ZB© H${dVm 

Harivansh Rai Bachchan was a prominent figure in which literary movement ? 

Nayi Kavita 
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85. {ZåZ{b{IV ‘| go H$m¡Z-gr aMZm amhþb gm§H¥$Ë¶m¶Z H$s Zht h¡ ? 

 em§{V Y‘© 

Which of the following is not a composition of Rahul Sankrityayan ? 

Shanti Dharma 

86. ~wb§X XadmµOm Ho$ ~mao ‘| {ZåZ{b{IV ‘| go H$m¡Z-gm H$WZ JbV h¡ ? 

Bgo noemda na AH$~a H$s OrV H$s ¶mX ‘| ~Zdm¶m J¶m Wm 

Which of the following statements is incorrect about Buland Darwaza ?  

It was built to commemorate Akbar’s victory over Peshawar 

87. CÎma àXoe Ho$ gånyU© ‘Ü¶ joÌ ‘| {H$g àH$ma H$s {‘Å>r nmB© OmVr h¡ ? 

aoVrbr Xþ‘Q> {‘Å>r 

What type of soil is found in the entire central region of Uttar Pradesh ? 

Sandy loam soil 

88. {ZåZ{b{IV H$WZm| H$m CZHo$ g§JV emgH$m| go {_bmZ H$a| & 

 H$WZ emgH$ 

 1.  Mm¡Wr ~m¡Õ n[afX a. M§ÐJwßV {ÛVr` 

 2. JwßV d§e H$m g§ñWmnH$   b. H${ZîH$ 

 3. ^maV H$m Zonmo{b`Z c. lrJwßV 

 4. \$m{h`mZ Zo ^maV H$m   d. g_wÐJwßV   

  Xm¡am {H$`m 

1     2   3 4 

b     c  d a 

Match the following statements to their corresponding rulers. 

 Statement Rulers 

 1.  4th Buddhist council a. Chandragupta II 

 2. Founder of Gupta  b. Kanishka 

  dynasty   

 3. Napolean of India c. Srigupta 

 4. Fa-hien visited   d. Samudragupta 

  India 

1     2   3 4 

b     c  d a 



 

AD01 18 MASTER SET 
 

89. 1857  Ho$ {dÐmoh Ho$ {ZåZ{b{IV Ho$ÝÐm| H$m CZHo$ g§~§{YV ZoVmAm| go {_bmZ H$a| & 

 H|$Ð ZoVm 

 1.  bIZD$ a. _m¡bdr {b`mH$V Abr 

 2. Bbmhm~mX  b. Xodr {g§h 

 3. _oaR> c. ~oJ_ hOaV _hb 

        4. _Wwam  d. H$X_ {g§h 

1     2     3 4 

c     a     d  b 

Match the following centres of the Revolt 1857 to their corresponding leaders. 

 Centres Leaders 

 1.  Lucknow a. Maulvi Liyaquat Ali 

 2. Allahabad  b. Devi Singh 

 3. Meerut c. Begum Hazrat Mahal 

          4. Mathura  d. Kadam Singh 

1     2     3 4 

c     a     d  b 

90. CÎma àXoe ‘| K{‹S>¶mb Ho$ g§ajU à¶mgm| Ho$ {bE {ZåZ{b{IV ‘| go H$m¡Z-gm A^¶maÊ¶ à{gÕ h¡ ? 

amîQ´>r¶ M§~b A^¶maÊ¶ 

Which of the following sanctuaries is renowned for its conservation efforts of the Gharial in 

Uttar Pradesh ? 

National Chambal Sanctuary 

91. CÎma àXoe ‘| nmB© OmZo dmbr amH$a {‘Å>r Ho$ ~mao ‘| {ZåZ{b{IV ‘| go H$m¡Z-gm ghr h¡ ? 

¶hm± {Vb Am¡a MZo O¡gr ’$gb| CJmB© OmVr h¢ 

Which of the following is correct about Rakar Soil found in the Uttar Pradesh ? 

Crops like sesame and grams are grown here  

92. aongrS> Am¡a gagm| ({VbhZ) Ho$ CËnmXZ ‘| CÎma àXoe H$m ñWmZ ³¶m h¡ (Am{W©H$ gd}jU 2023-24 Ho$ AZwgma) ? 

Xÿgam 

What is the rank of Uttar Pradesh in the production of Rapeseed and mustard (oil seeds) (as per 

Economic Survey 2023-24) ? 

2nd 
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93. CÎma àXoe {dYmZ n[afX H$s {ZåZ{b{IV g§aMZm H$m CZH$s g§JV g§»`m go {_bmZ H$a| & 

  g§aMZm    g§»`m 

 1. amÁ`nmb Ûmam _ZmoZrV a. 36 gXñ` 

 2. ñWmZr` {ZH$m`m| go b. 10 gXñ` 

 3. {dYmZ g^m Ûmam {Zdm©{MV c. 8 gXñ` 

 4. {ejH$m| Ûmam {Zdm©{MV d. 38 gXñ` 

1 2 3 4 

b a d c 

Match the following compositions of Legislative Council of Uttar Pradesh with their 

corresponding numbers. 

  Compositions  Numbers 

 1. Nominated by a. 36 members  

  Governor 

 2. From Local Bodies b. 10 members 

 3. Elected by  c. 8 members 

  Legislative Assembly 

 4. Elected by Teachers d. 38 members 

1 2 3 4 

b a d c 

94. CÎma àXoe _| Amo~am W‘©b nmda ñQ>oeZ H$hm± pñWV h¡ ? 

gmoZ^Ð 

OBRA thermal power station is situated at _______ in Uttar Pradesh. 

Sonebhadra 

95. CÎma àXoe Ho$ {ZåZ{b{IV {Obm| ‘| go H$m¡Z-gm {Obm ‘Ü¶ àXoe Ho$ gmW gr‘m gmPm H$aVm h¡ ? 

A) Am¡a B) XmoZm| 

Which of the following districts of Uttar Pradesh shares boundaries with Madhya Pradesh ? 

Both A) and B) 

96. b{bVnwa {Obm _________ H$m EH$ {hñgm h¡ & 

Pm§gr {S>drOZ  

Lalitpur district is a part of  

Jhansi Division 

97. H$m¡em§~r ________ H$m EH$ {hñgm h¡ & 

à¶mJamO {S>drOZ 

Kaushambi is a part of  

Prayagraj Division 
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98. CÎma àXoe Ho$ {H$g aobdo ñQ>oeZ H$m Zm‘ ~XbH$a ñdm‘r na‘h§g H$a {X¶m J¶m h¡ ? 

~Zr 

Which railway station in Uttar Pradesh has been renamed as Swami Paramhans ? 

Bani 

99. Jm|S>m ‘| dZ {d^mJ Zo {ZåZ{b{IV ‘| go {H$g ZXr na H$Nw>Am g§ajU [aOd© ñWm{nV H$aZo H$s ¶moOZm ~ZmB© h¡ ? 

gaOy 

In which of the following rivers is the Forest Department in Gonda, set to establish a turtle 

conservation reserve ? 

Sarju 

100. CÎma àXoe Ho$ ~hamBM {Obo Ho$ ~mao _| {ZåZ{b{IV H$WZm| na {dMma H$a| Am¡a ZrMo {XE JE ghr {dH$ën H$m  

M`Z H$a| & 

 a.  {Obo _| ~Zo Johÿ± Ho$ S>§R>b go ~Zo hñV{eën CËnmXm| Zo ~hþV bmoH${à`Vm hm{gb H$s h¡ & 

 b.  Bg joÌ Ho$ {eënH$ma AZmoIr H$bmH¥${V`m± ~ZmVo h¢, {OZHo$ {MÌm| H$m AmH$ma Johÿ± Ho$ S>§R>b H$m Cn`moJ H$aHo$ 

H$n‹S>o Ho$ \«o$_ na V¡̀ ma {H$`m OmVm h¡ & BZ H$bmH¥${V`m| H$s M_H$ g_` Ho$ gmW ~‹T>Vr OmVr h¡ & 

 c.  ~hamBM XodrnmQ>Z {Obo Ho$ X{jU nydu ^mJ _|  

pñWV h¡ & 

H$WZ a Am¡a b XmoZm| ghr h¢ 

Consider the following statements about district Bahraich of Uttar Pradesh and choose the 

right option given below. 

 a. The wheat stalk handicraft products made in district have gained immense popularity. 

 b. Craftsmen in the region make unique artwork whose shape of the drawings is 

prepared on cloth frames using wheat stalk. The brightness of these artifacts 

increases with time. 

 c. Bahraich is situated in South Eastern part of Devipatan district. 

Both statements a and b are correct 

 


